

$$\textcircled{1} (x \oplus 4)(x \ominus 4)$$

$$= \underline{x^2 - 16}$$

$$\textcircled{2} (x \ominus 3y)(x \oplus 3y)$$

$$= \underline{x^2 - 9y^2}$$

$$\textcircled{3} (3x + 5)(3x - 5)$$

$$= \underline{9x^2 - 25}$$

$$\textcircled{4} (4x - 5y)(4x + 5y)$$

$$= \underline{16x^2 - 25y^2}$$

$$\textcircled{5} (x + \frac{2}{3}y)(x - \frac{2}{3}y)$$

$$= \underline{x^2 - \frac{4}{9}y^2}$$

$$\frac{2}{3} \times \frac{2}{3} = \frac{4}{9}$$

$$\textcircled{6} (4 + x)(4 - x)$$

$$= \underline{16 - x^2}$$

$$\textcircled{7} (-x \ominus 3)(-x \oplus 3)$$

$$= \underline{x^2 - 9}$$

$$\textcircled{8} (0.3a \oplus 0.5b)(0.3a \ominus 0.5b)$$

$$= \underline{0.09a^2 - 0.25b^2}$$

$$\textcircled{9} (\frac{1}{2}x \oplus \frac{1}{3})(\frac{1}{2}x \ominus \frac{1}{3})$$

$$= \underline{\frac{1}{4}x^2 - \frac{1}{9}}$$

$$\textcircled{10} (2a - b)(b + 2a)$$

↓ 並び直し

$$= (2a \ominus b)(2a \oplus b)$$

$$= \underline{4a^2 - b^2}$$